10 Academic Date:
Day 6: Factoring Tricky Trinomials Chapter 5: Quadratic Expressions

DECOMFOSITION METHOD 3 -y

Factor 2x* +x~ 6
7-/7@ two numbers that add to + 1 anc/mu/h}o/g to-/12are...

&XZ 4 3)( -Ll X — 6 Split the middle term using the two numbers you
o) found, mx and nx.
- X{;ZY =+ 3\ - 2 ( 2X+ ) Factor these 4 terms by grouping. (i.e. common
factor the first two terms, common factor the last
( 1 X+ 3) (X —2) two terms - Remember: the two binomials in the

brackets should always be the same)

(ommon factor the binomials in the brackets.

AUSTRALIAN METHOD

Fxample 1: Factor 2x* + x- 6 3 -l'
T/L)e two numbers that add to + 1 and mult [g to -~ /2 are.

2 3 ] erte the following terms in this form:
( X + )(QX )/9 (2)64-3)()(-2) (ax+m)(ax+n) 3
_ (ax+ 3) M(x—z)

Common factor the two sets of brackets.

Keduce the fraction.

Examg/ez Factor2x+ 1ix+5 Examg/c: Factor 6x* - 7x + 2
mand nmust. ..+ to \l , X to lO mand nmust ...+ to 'q',xto 1L
m and n are *l )*I'O mandnare"3 -Lf
25+ 1 Ix+ 5 o .fi_f 6><Z—7xl+z %C
=dx +X+10x+5 ‘-'cq_z_' = (éx-?;)(éx*q ) éxl.gx—Qx-J( x
sx(2x+) +5(2x+) ] 2 o (e ‘-3x(2x—l)—2(9x")
(2%~ x=2) '\
- (2x+)(x+5) s 7 = (2x=D(Bx-2)
= (Qx—f)(?))(“l) :
Examg/eﬁ'—. Fac’cor‘i-xZ —4x—? Exame/c 7 Fac’cor 8x"+ 2x — 3
mandnmust...+to‘-"" ,Xto_r)_ mand n must. ..+ to “'Q,Xto-.?,'-}
m and n are 'f'll '-6 mand nare 4 ,+6 AUS
P 4x* - 4x ~ 30R Aus et 2x-3 ] (8 14)
2 ) W = (Be-t)& 14
bx*-bx+2x=3 | <(@x-6)(Ux+2) B -Ux4bx-3 3
4 -
=% (2%-3) 1 (=) I: 2 (2x D) U (2x-1) + Y 2x-) '| _W(2x-1)%) (64 3)
D C ) B < (2x~1D(uxt s) N
L =(2x-3)(2x+)) < (D) (ux3)
' \
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Fxample 6 Tactor4x*-27x+ 18

Examg/c 7 Factor 9x* - 6x -~ 8

mand nmust ...+ to "'lq',xto ?‘9_ mand n must ...+ to _(:p ,Xto-qo-'
m and n are —% -'.2_(_( mand n are 6!"
4x> - 27x+ 1 9x” - 6x~8
Lix- 3x-24y 403 ' _ (U= BB(LN M) = Drg2x+ex 8| (A Exb)
x(ux-3)-6( Ux —3) = 3x(3x-4) +2(3x4) ' q
(gx-‘!a)m x—6) ) [ \%CSx—‘f)f\ZQ(SxH)
(ux-Q(K-G) 1 )4 =(3x—q Gx+2) l )
| = (-39 | = (3-4)3x49)
|
\
Examg/c 8 [Tactor 6x” - 7x -3 / xamg/c}’: Factor4x’ - 13x-12
mand nmust. ..+ to ":)L,Xto -l% manclnmust..ﬁrto"ls ,Xto—L{‘s
mandnare+2 N —‘:l m and n are |‘G
6x - 7x~3 47 ~i§><
2_A4dx -3 ) (6 =Dlpxt2) |yt -fb><+3»<-f7_ ! (Us = ;;,3(@4-_3)

6
/S'(Q.x-?s) (2'5(3x+f)
L

=(x-3)(3x+1)

zx(zx-3)+(ax—3) '
_(Qx—%)(_%u- l)

= by (X-4)+3(%4) | q(k-q\(awf)

< (e-)ux+3d) ) 4
| = (X=4)(Ust)

E_xamglc 10: [Tactor 5x™ + 13x~6
+to "{j

x5
5x5+ 13x -6

bx -Qx-[-l‘)x-f: l _(5x- 9.)(’5>(+1‘\')
x(’)_x 9-)-{-3 5*'?),

~(5x-D(x43) = (o M"“”)

| ~ (5% -2)(x+3)

’Xto_b

m and n must . ..

mandnare ™

|
Z xamg/c INE ]:actor 8><LJ I4x + 3

mand nmust ...+ to "IU , X to D-Li
mandnare T2 ) 12
8x - i4x+3
§F- 122 +2 ) (Bu—12)(8x2)
2y (2¢-3)-16¢3) ! g
| (ax -2) )
L (2341 ~ <
( ) | 2
| = (2x-3 Yax~1)

I
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5.5 1) 3p*-2p-5 .=3|o"+3f-?f S
ap (p+)-5 (p)
@ = (p+N(3p-5)

T~
3) 3n~—8n+4
= 3nl-2n-bn + ¥

=n(3n-2)-2(3n-2)
=(3n-2Xn-2)
, ~
3) 2vi+11v+5 loﬂlﬁl—l o
eNEAR LD ’
- 1

_ (v W +S) ) (v+ Dv+5)

3

: LI
7) 7Ta”+53a+28 |4 53 U, uq
-Fa Alq+ Wa 4123

_a(?a+u) +H+(Fa+u)
- (Fa +W)(a+?
M AN
6 30 al 3,720
=,|5‘n(n-2.)+3(0"1)
=(n —z)(lﬁ"n+3)

= (0-2X((50+) i
1) 4n>— 15025 ,wo—ig\—g e
= Ut 290 +9n-29 !
< un(n-5)15(n-5)
=(n-5)(4n+5)
15) 6x°+37x+6 E—H_N
- brax il e B
= x(bx41) 4 b(Gx+)
< (ex+D(x+b)

9) 15n*=27n -
= 15n%-30a+3n -6

17) én*+5n—6
=60 -Un+qn-L
~2n(%-2) 43 (h-2)
=(3n-Dl2n+ 3)

l
\
|
\
|
\

Pracince
-\3 — 3

=2n1-50 fbn -9
- n(2n-343(2n-3
= (2n-1)(ﬂ+3)

alo B SnP+19n+12

(not in order):

(Ta+4ia+7)

—(2a4+53a+ 5)

M

g*?{_f.;,l"i 2 bnt4lny S0+ 1z 4(h + 5)(4h-5)
=0 (5n+4)+ 3(5n4)
- (50 +y)(n+ 3) 33k + 1)k + 7)
iq"_%‘% 6) 2n’+5n+2 (n— A)dn— 1)
T (an )0t Y)

- 2 o - z
. (,9.n+D{‘l)(n+?D (n—5¥4n+ 5
= = (Qn-ll-)(ﬂ'i’;.) (2n+ in+2)

M| AV 8) 9%k + 66k +21
lg—\_\‘a\ orl 3, & =3 a8k +Y
=3k (3k+D) +0(3kt)

~(Bee)(3et2D)

—(BeAN(D(e+?)
AP 10) 5x%— 18x+9
4s 13 31 I < g)("-l"fx-%x-"q

= Gy x-3)-3(x=})

= (<= (5%-3)
M AN 7
g 12) 4x°—35x+49
a6 - = Uyp*-23x-Ix+49

- Ux(x-3)-7("?)

= ()" '?')(({x‘-?')
‘M—\"‘—F _16) —6a’—25a— 25
O oy _-6al-(5q-l0a -5
- -3a(2a 4-‘?) -5(2a+
= (ra+5)(-3a -s)
- (2a+5)(-1)(3a+7)

(2n+3)3n-2)
(2n—3)(n+3)
(3n—2)(n-2)
(5n+4)n+3)
IEn+ 1n-2)
(B3p-5)p+1)
(2v+1)(v +5)
(x=T)4x-T7)
7)
(x+6)(6x+1)

(3x=TN2x+7)

(5x—3)x—3)

M Al 18) 1667 + 606 — 100
-H?Foo o 4 (467 H170-29)
Lo (U-5b119-15)

- b(llb-";)'!";("b'i)]

— ) (4b-s) (L+3)
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